UNIQUENESS OF SEMILINEAR ELLIPTIC INVERSE PROBLEM

CHAOCHUN QU and PING WANG

Received 20 April 2003

We consider the uniqueness of the inverse problem for a semilinear elliptic differential equation with Dirichlet condition. The necessary and sufficient condition of a unique solution is obtained. We improved the results obtained by Isakov and Sylvester (1994) for the same problem.

2000 Mathematics Subject Classification: 35R30, 35J60.

1. Introduction. Isakov and Sylvester considered in [3] the problem of uniquely determining *a* in the following semilinear elliptic Dirichlet problem:

$$-\Delta u + a(x, u) = 0, \quad x \in \Omega, \tag{1.1}$$

$$u|_{\partial\Omega} = g \in W^{2-1/p,p}(\partial\Omega), \tag{1.2}$$

where $\Omega \subset \mathbb{R}^n$ $(n \ge 3)$ is a bounded domain and its boundary $\partial \Omega \in C^{2,\alpha}$. Denote u(x,g) as the solution of (1.1) and (1.2). Under the assumptions

$$a_{s}(x,s) \ge 0, \quad a(x,s), a_{s}(x,s), a_{ss}(x,s) \in L^{\infty}(\Omega \times [s,s]),$$
(1.3)

they proved the following theorem.

THEOREM 1.1. Denote the mapping $\Lambda_a : g \to \partial u / \partial \mu |_{\partial\Omega}$. If $a_1(x, 0) = a_2(x, 0) = 0$ and $\Lambda_{a_1} = \Lambda_{a_2}$, then $a_1(x, s) = a_2(x, s)$ on *E*, where $E = \{(x, s) : \min(u_{1*}, u_{2*}) < s < \max(u_1*, u_2*), x \in \Omega\}$, $u_i* = \sup_{g \in W^{2-1/p, p}(\partial\Omega)} u(x, g)$, and $u_{i*} = \inf_{g \in W^{2-1/p, p}(\partial\Omega)} u(x, g)$, i = 1, 2.

Later, Nakamura, in [4], attempted to improve the above result by claiming that the same results can be obtained only by assuming the following conditions on *a*:

$$a(x,s) \in L^{\infty}(\overline{\Omega} \times \mathbb{R}), \qquad a_s \ge 0, \qquad a_1(x,0) = a_2(x,0).$$
 (1.4)

The result of [4] does not hold because the key Lemma 2.1 in [4] applied in its proof is incorrect.

In this paper, we consider a general strong elliptic equation

$$-\sum_{i,j=1}^{n} c_{ij}\partial_{ij}u + a(x,u) = 0, \qquad (1.5)$$

where c_{ij} are constants and $\sum_{i,j=1}^{n} c_{ij} \xi_i \xi_j \ge c_0 > 0$ for any $(\xi_1, \xi_2, ..., \xi_n) \in \mathbb{R}^n$. The following two theorems are our main results.

THEOREM 1.2. Suppose that $a_1(x,s)$ and $a_2(x,s)$ satisfy the conditions

$$a_1, a_2, a_{1s}, a_{2s} \in L^{\infty}(\bar{\Omega} \times \mathbb{R}) \cap C^{0,\alpha}(\Omega \times R), \quad a_{1s}, a_{2s} \ge 0.$$

$$(1.6)$$

If $\Lambda_{a_1} = \Lambda_{a_2}$, then $a_1(x,s) = a_2(x,s)$ on $\Omega \times \mathbb{R}$ if and only if there exists a constant θ_0 such that $u_1(x,\theta_0) = u_2(x,\theta_0)$, where $u_1(x,\theta_0)$ and $u_2(x,\theta_0)$ are both a solution of (1.1) and (1.2) with boundary data θ_0 and

$$\Lambda_{a} = \frac{\partial u}{\partial \mu} \Big|_{\partial \Omega} = \sum_{i,j=1}^{n} c_{ij} \frac{\partial u}{\partial x_{i}} \cos\left(n, x_{i}\right) \Big|_{\partial \Omega}.$$
(1.7)

The following theorem is a consequence of Theorem 1.2 and it improves the result in [3].

THEOREM 1.3. Suppose that conditions (1.6) are satisfied. If $\Lambda_{a_1} = \Lambda_{a_2}$ for $a_1, a_2 \in E = \{a(x, s) \in C^1(\Omega \times \mathbb{R}), \text{ there exists an } s \in \mathbb{R} \text{ such that } a(x, s) = 0 \text{ for all } x\}$, then $a_1(x, s) = a_2(x, s) \text{ on } \Omega \times \mathbb{R}$.

REMARK 1.4. In our result, we obtain a necessary and sufficient condition for the uniqueness of *a*. Moreover, the condition in Theorem 1.2 is weaker than that in [3].

REMARK 1.5. It is significant to consider a general elliptic equation (1.5) although the equation can be transferred to a Laplace equation (1.1) through some transform. The reason is that, to determine the term *a*, we rely on a Dirichlet \rightarrow Neumann mapping (defined in Section 2) totally, which may be defined for the general elliptic equation, but the transferred version may or may not be defined for the resulting Laplace equation.

2. The global uniqueness of the inverse problem. Let Ω be a bounded domain in \mathbb{R}^n with $C^{2,\alpha}$ -boundary $\partial \Omega$.

First we state an existence result.

LEMMA 2.1. Suppose that $a(x,s), a_s(x,s) \in L^{\infty}$ and $a_s(x,s) \ge 0$. There exists a unique solution, $u \in W^{2,p}$, of the following Dirichlet problem:

$$-\sum_{i,j=1}^{n} c_{ij}\partial_{ij}u + a(x,u) = 0, \quad x \in \Omega,$$

$$u|_{\partial\Omega} = g \in W^{2-1/p,p}(\partial\Omega).$$
 (2.1)

PROOF. We first consider (2.1), with $\phi(x) \in C^{2,\alpha}(\bar{\Omega})$ as the boundary condition. The existence of a solution u of the problem is well known (cf. [1]). Then we take a sequence of functions: $\phi_n \in C^{2,\alpha}(\bar{\Omega})$ in such a way that $\phi_n \to \phi$ in $W^{2,p}$ and $\phi|_{\Omega} = g \in W^{2-1/p,p}(\partial\Omega)$. For each boundary term ϕ_n , there exists a solution $u_n \in C^{2,\alpha}(\bar{\Omega})$. By establishing a priori estimates and applying embedding theorem and maximum principle, we can show that u_n is a Cauchy sequence. Therefore, a subsequence of u_n will converge to a function u in $W^{2,p}$ and it can be shown that this limit, u, is the unique solution of (2.1).

Given $g \in W^{2-1/p,p}(\partial\Omega)$, with the corresponding solution from Lemma 2.1, we define the Dirichlet \rightarrow Neumann mapping $(W^{2-1/p,p}(\partial\Omega) \rightarrow W^{1-1/p,p}(\partial\Omega))$:

$$\Lambda_a: g \longrightarrow \frac{\partial u}{\partial \mu} \Big|_{\partial \Omega} = \sum_{i,j=1}^n c_{ij} \frac{\partial u}{\partial x_i} \cos\left(n, x_i\right) \Big|_{\partial \Omega}.$$
 (2.2)

Following the notations in [3], for each $g \in W^{2-1/p,p}(\partial\Omega)$, we denote

$$a^*(x,g) = \frac{\partial a}{\partial u}(x,u(x,g)).$$
(2.3)

For

$$-\sum_{ij=1}^{n} c_{ij}\partial_{ij}v + a^{*}(x,g)v = 0, \qquad (2.4)$$

we denote the Dirichlet \rightarrow Neumann mapping as $\Lambda_{a^*(x,a)}$.

LEMMA 2.2. Suppose that a_1 , a_2 satisfy conditions (1.6) and $\Lambda_{a_1} = \Lambda_{a_2}$. Then, for each $g \in W^{2-1/p,p}(\partial \Omega)$,

$$\Lambda_{a_1^*(x,g)} = \Lambda_{a_2^*(x,g)}.$$
(2.5)

PROOF. By definition,

$$\Lambda_{a}(g + \tau g *) = \frac{\partial u(x, g + \tau g *)}{\partial \mu} \Big|_{\partial \Omega},$$

$$\Lambda_{a}(g) = \frac{\partial u(x, g)}{\partial \mu} \Big|_{\partial \Omega}.$$
(2.6)

For $g * \in W^{2-1/p,p}(\partial \Omega)$,

$$\frac{\Lambda_a(g+\tau g*)-\Lambda_a(g)}{\tau} = \frac{\partial}{\partial \mu} \frac{u(x,g+\tau g*)-u(x,g)}{\tau} \Big|_{\partial \Omega}.$$
 (2.7)

Since $u(x, g + \tau g *)$ and u(x, g) are, respectively, solutions of the Dirichlet problems

$$-\sum_{i,j=1}^{n} c_{ij}\partial_{ij}u + a(x, u(x, g + \tau g *)) = 0, \quad x \in \Omega,$$

$$u(x, g + \tau g *)|_{\partial\Omega} = g + \tau g * \in W^{2-1/p, p}(\partial\Omega);$$

$$-\sum_{i,j=1}^{n} c_{ij}\partial_{ij}u + a(x, u(x, g)) = 0, \quad x \in \Omega,$$

$$u(x, g)|_{\partial\Omega} = g \in W^{2-1/p, p}(\partial\Omega),$$
(2.8)

the difference $v(\tau) = (u(x, g + \tau g *) - u(x, g))/\tau$ satisfies the equation

$$-\sum_{i,j=1}^{n} c_{ij}\partial_{ij}v + v(\tau)\frac{\partial a}{\partial s}(x,u(x,g))$$

$$= -v(\tau)\int_{0}^{1} \left(\frac{\partial a}{\partial s}(x,\sigma u(x,g+\tau g*) - (1-\sigma)u(x,g)) - \frac{\partial a}{\partial s}(x,u(x,g))\right) d\sigma.$$

(2.9)

The maximum principle implies that

$$\left\| v\left(\tau\right) \right\|_{L^{\infty}(\Omega)} \le \max_{x \in \partial \Omega} \left| g \ast (x) \right| \quad \forall \tau \in \mathbb{R}.$$
(2.10)

Applying the L^p -estimate theorem for the solution of elliptic equation, we then obtain that

$$\|u(x,g+\tau g*) - u(x,g)\|_{W^{2,p}(\Omega)} \le c |\tau| \|g*\|_{W^{2-1/p,p}(\partial\Omega)} \to 0 \quad \text{as } \tau \to 0.$$
(2.11)

Embedding theorem shows that

$$||u(x,g+\tau g*)-u(x,g)||_{C(\Omega)} \to 0 \quad \text{as } \tau \to 0.$$
(2.12)

From the assumption that $a_s \in L^{\infty}(\bar{\Omega} \times \mathbb{R}) \cap C^{0,\alpha}(\Omega \times \mathbb{R})$ and (2.9), we see that

$$\left\|-\sum_{i,j=1}^{n} c_{ij}\partial_{ij}v + v(\tau)\frac{\partial a}{\partial s}(x,u(x,g))\right\|_{L^{p}(\Omega)} \to 0 \quad \text{as } \tau \to 0.$$
(2.13)

Now we can show that $v(\tau) \rightarrow v(0)$ in $W^{2,P}(\Omega)$. In fact,

$$\sum_{i,j=1}^{n} c_{ij}\partial_{ij} (v(\tau) - v(0))$$

$$= (v(\tau) - v(0)) \frac{\partial a}{\partial s} (x, u(x,g)) - \frac{\partial a}{\partial s} (x, u(x,g))$$

$$- v(\tau) \int_{0}^{1} \left(\frac{\partial a}{\partial s} (x, \sigma u(x, g + \tau g *) - (1 - \sigma) u(x,g)) \right) d\sigma,$$

$$(v(\tau) - v(0)) |_{\partial \Omega} = 0.$$
(2.14)

Therefore,

$$\begin{aligned} \left\| v\left(\tau\right) - v\left(0\right) \right\| \\ \leq C \left\| g * \right\|_{W^{2-1/p,p}(\partial\Omega)} \max_{x \in \Omega, \sigma \in [0,1]} \left| \frac{\partial a}{\partial s} \left(x, \sigma u(x, g + \tau g *) - (1 - \sigma)u(x, g) \right) - \frac{\partial a}{\partial s} \left(x, u(x, g) \right) \right|. \end{aligned}$$

$$(2.15)$$

The fact that $a_s \in C^{0,\alpha}(\Omega \times \mathbb{R})$ implies that $v(\tau) \to v(0)$ in $W^{2,p}(\Omega)$, that is,

$$\frac{u(x,g+\tau g*)-u(x,g)}{\tau} \to v(0) \quad \text{in } W^{2,P}(\Omega).$$
(2.16)

Applying the trace theorem, we obtain that

$$\frac{\partial v(\tau)}{\partial \mu}\Big|_{\partial\Omega} \longrightarrow \frac{\partial v(0)}{\partial \mu}\Big|_{\partial\Omega} = \Lambda_{a^*(x,g)}g^*$$
(2.17)

or

$$\lim_{\tau \to 0} \frac{\Lambda_{a(x,g+\tau g*)} - \Lambda_{a(x,g)}}{\tau} = \Lambda_{a^*(x,g)}.$$
(2.18)

The assumption that $\Lambda_{a_1} = \Lambda_{a_2}$ implies (2.5).

LEMMA 2.3 [2]. Consider a linear equation of order *m* with constant coefficients

$$(P_j(-i\partial) + c_j)u_j = 0.$$
 (2.19)

Let Σ_0 be a nonempty open set in \mathbb{R}^n . Suppose that, for any $\xi(0) \in \Sigma_0$ and any constant *R*, there exists a solution $\xi(j)$ of the following algebraic equation:

$$\xi(1) + \xi(2) = \xi(0), \quad P_j(\xi(j)) = 0, \quad |\xi(j)| > R.$$
(2.20)

Also suppose that there exists a constant *C* such that, for all $\zeta \in \mathbb{R}^n$,

$$\frac{1}{\left|\xi(j)\right|} \le C\tilde{P}_{j}(\zeta + \xi(j)), \tag{2.21}$$

where $\tilde{P}(\zeta) = (\sum_{|\alpha| \le m} |\partial_{\zeta}^{\alpha} P(\zeta)|^2)^{1/2}$. If $f \in L^1(\Omega)$ and for all L^2 solution, u_j , it holds that

$$\int_{\Omega} f u_1 u_2 \, dx = 0, \tag{2.22}$$

then f = 0.

In our case, we take

$$P(\partial u) = -\sum_{i,j=1}^{n} a_{ij} \partial_{ij} u + a(x) u = 0, \qquad (2.23)$$

where $\sum_{i,j=1}^{n} c_{ij} \xi_i \xi_j \ge c_0 |\xi|$ for any $\xi \in \mathbb{R}^n$. It can be shown algebraically that, for the differential operator defined in (2.23), all the conditions in Lemma 2.3 are satisfied.

Now, we apply the result of Lemma 2.3 to prove the following lemma.

LEMMA 2.4. Under the assumptions of Lemma 2.2, for any $g \in W^{2-1/p,p}(\partial \Omega)$ and any $x \in \Omega$, it holds that

$$a_1^*(x,g) = a_2^*(x,g).$$
 (2.24)

PROOF. From Lemma 2.2, for any $g^* \in W^{2-1/p,p}(\partial \Omega)$,

$$\Lambda_{a_1^*(x,g)}g^* = \Lambda_{a_2^*(x,g)}g^*.$$
(2.25)

That is, if $v_1(x,g^*)$ and $v_2(x,g^*)$ satisfy, respectively, the equations

$$-\sum_{i,j=1}^{n} c_{ij}\partial_{ij}v_1(x,g*) + a_1^*(x,g)v_1(x,g*) = 0, \qquad (2.26)$$

$$v_1(x,g*)\big|_{\partial\Omega} = g*; \tag{2.27}$$

$$-\sum_{ij=1}^{n} c_{ij}\partial_{ij}v_2(x,g*) + a_2^*(x,g)v_2(x,g*) = 0, \qquad (2.28)$$

$$v_2(x,g*)\big|_{\partial\Omega} = g*, \tag{2.29}$$

then

$$\frac{\partial v_1(x,g*)}{\partial \mu}\Big|_{\partial\Omega} = \frac{\partial v_2(x,g*)}{\partial \mu}\Big|_{\partial\Omega}.$$
(2.30)

We can easily prove the conclusion of the lemma by multiplying (2.26) by v_2 and (2.28) by v_1 , integrating the difference of the two equations over Ω , and applying Lemma 2.3.

LEMMA 2.5. If there is a constant θ_0 such that $u_1(x, \theta_0) = u_2(x, \theta_0)$, then $\Lambda_{a_1} = \Lambda_{a_2}$ implies that $a_1(x, u_1(x, \theta_0)) = a_2(x, u_2(x, \theta_0))$.

PROOF. Applying Green's formula, we obtain, for any $v \in C^0(\overline{\Omega}) \cap C^2(\Omega)$,

$$\int_{\Omega} \sum_{i,j=1}^{n} a_{ij} \partial_i v \,\partial_j u_1 \,dx - \int_{\partial\Omega} \sum_{i,j=1}^{n} a_{ij} \partial_j u_1 v \cos(n, x_i) \,ds + \int_{\Omega} a_1(x, u_1) v \,dx$$
$$= \int_{\Omega} \sum_{i,j=1}^{n} a_{ij} \partial_i v \,\partial_j u_1 \,dx - \int_{\partial\Omega} v \frac{\partial u_1}{\partial \mu} \,ds + \int_{\Omega} a_1(x, u_1) v \,dx$$
$$= 0.$$
(2.31)

Similarly, for $u_2(x, \theta_0)$, we have

$$\int_{\Omega} \sum_{i,j=1}^{n} a_{ij} \partial_i v \,\partial_j u_2 dx - \int_{\partial\Omega} v \frac{\partial u_2}{\partial \mu} ds + \int_{\Omega} a_2(x,u_2) v \,dx = 0.$$
(2.32)

Therefore,

$$\int_{\Omega} [a_1(x, u_1) - a_2(x, u_2)] v \, dx = 0, \tag{2.33}$$

which then implies that $a_1(x, u_1(x, \theta_0)) = a_2(x, u_2(x, \theta_0))$.

LEMMA 2.6. Suppose that $\Lambda_{a_1} = \Lambda_{a_2}$. There exists a number $\theta^* > 0$ such that, when $|\theta - \theta_0| < \theta^*$,

$$u_1(x,\theta) = u_2(x,\theta). \tag{2.34}$$

PROOF. Let $v = u_2(x, \theta) - u_1(x, \theta)$. Then v satisfies equations

$$-\sum_{i,j=1}^{n} c_{ij}\partial_{ij}v + v \int_{0}^{1} \frac{\partial a}{\partial s} (x, \sigma u_{2} + (1-\sigma)u_{1}) = a_{1}(x, u_{1}) - a_{2}(x, u_{2}), \quad x \in \Omega,$$

$$v|_{\partial\Omega} = 0.$$
(2.35)

It results from the maximum principle that

$$\|v\|_{L^{\infty}(\Omega)} \le C ||a_1(x, u_1) - a_2(x, u_2)||_{L^{p}(\Omega)}.$$
(2.36)

Since $(\partial a_1/\partial s)(x, u_1) = (\partial a_2/\partial s)(x, u_2)$,

$$\left|\frac{\partial a_1}{\partial s}(x,u_1) - \frac{\partial a_2}{\partial s}(x,u_1)\right| = \left|\frac{\partial a_2}{\partial s}(x,u_2) - \frac{\partial a_2}{\partial s}(x,u_1)\right| \le C |u_1 - u_2|^{\alpha}.$$
(2.37)

From Lemma 2.4, we know that, for $\theta > \theta_0$,

$$\begin{aligned} \|a_{1}(x,u_{1}) - a_{2}(x,u_{1})\| \\ &= \left| \int_{\theta_{0}}^{\theta} \left(\frac{\partial a_{1}}{\partial s} (x,u_{1}(x,\tau)) - \frac{\partial a_{2}}{\partial s} (x,u_{1}(x,\tau)) \right) \frac{\partial u_{1}}{\partial \tau} d\tau \right| \\ &\leq C \left| \theta - \theta_{0} \right| \sup_{\theta_{0} \leq \tau \leq \theta, x \in \Omega} \left| u_{1}(x,\tau) - u_{2}(x,\tau) \right|^{\alpha}. \end{aligned}$$
(2.38)

Substituting it in (2.36) yields

$$\left|\left|u_{1}(x,\theta)-u_{2}(x,\theta)\right|\right|_{L^{\infty}(\Omega)} \leq C \left|\left|\theta-\theta_{0}\right| \sup_{\theta_{0} \leq \tau \leq \theta, x \in \Omega} \left|u_{1}(x,\tau)-u_{2}(x,\tau)\right|^{\alpha}.$$
(2.39)

Therefore, there exists θ^* such that, when $|\theta - \theta_0| < \theta^*$,

$$u_1(x,\theta) = u_2(x,\theta). \tag{2.40}$$

LEMMA 2.7. Assume that a_1 , a_2 satisfy all the conditions in Lemma 2.2 and that $\Lambda_{a_1} = \Lambda_{a_2}$. Then $u_1(x, \theta) = u_2(x, \theta)$ for all $\theta \in \mathbb{R}$.

PROOF. Again, let $v = u_2(x, \theta) - u_1(x, \theta)$. From the proof of Lemma 2.6, we obtain that

$$\left|\frac{\partial a_1}{\partial s}(x,u_1) - \frac{\partial a_2}{\partial s}(x,u_1)\right| \le C \left|u_1 - u_2\right|^{\alpha}.$$
(2.41)

Thus,

$$\frac{\partial a_1}{\partial s}(x, u_1(x, \theta)) - \frac{\partial a_2}{\partial s}(x, u_1(x, \theta)) = 0 \quad \forall | \theta - \theta_0 | \le \theta^*.$$
(2.42)

Then we have

$$\begin{aligned} ||a_{1}(x,u_{1}) - a_{2}(x,u_{1})|| \\ &= \left| \int_{\theta_{0}}^{\theta} \left(\frac{\partial a_{1}}{\partial s} (x,u_{1}(x,\tau)) - \frac{\partial a_{2}}{\partial s} (x,u_{1}(x,\tau)) \right) \frac{\partial u_{1}}{\partial \tau} d\tau \right| \\ &= \left| \int_{\theta_{0}+\theta^{*}}^{\theta} \left(\frac{\partial a_{1}}{\partial s} (x,u_{1}(x,\tau)) - \frac{\partial a_{2}}{\partial s} (x,u_{1}(x,\tau)) \right) \frac{\partial u_{1}}{\partial \tau} d\tau \right| \\ &\leq C \left| \theta - \theta_{0} - \theta^{*} \right| \sup_{\theta_{0}+\theta^{*} \leq \tau \leq \theta, x \in \Omega} \left| u_{1}(x,\tau) - u_{2}(x,\tau) \right|^{\alpha}. \end{aligned}$$
(2.43)

Therefore,

$$\sup_{x \in \Omega} |a_1(x, u_1) - a_2(x, u_1)|$$

$$\leq C |\theta - \theta_0 - \theta^*| \sup_{\theta_0 + \theta^* \leq \tau \leq \theta, x \in \Omega} |u_1(x, \tau) - u_2(x, \tau)|^{\alpha}, \qquad (2.44)$$

which implies that there exists $h_1 > 0$ such that, when $\theta_0 + \theta^* < \theta \le \theta_0 + \theta^* + h_1$, $a_1(x, u_1) - a_2(x, u_1) = 0$. Similarly, there exists $h_2 > 0$ such that, when $\theta_0 + \theta^* - h_2 < \theta \le \theta_0 + \theta^*$, $a_1(x, u_1) - a_2(x, u_1) = 0$. Note that

$$\|u_1(x,\theta) = u_2(x,\theta)\|_{L^{\infty}(\Omega)} \le C \|a_1(x,u_1) - a_2(x,u_2)\|_{L^{p}(\Omega)}.$$
(2.45)

Therefore, there exists a common *h* such that, when $|\theta - \theta_0 - \theta^*| < h$,

$$u_1(x,\theta) = u_2(x,\theta). \tag{2.46}$$

Repeating the above process, we can extend the interval each time by the length of *h*. Eventually, we have $u_1(x, \theta) = u_2(x, \theta)$ for all $\theta \in \mathbb{R}$.

Now we state and prove the first main result of this paper.

THEOREM 2.8. If a_1 , a_2 satisfy all the conditions in Lemma 2.2 and $\Lambda_{a_1} = \Lambda_{a_2}$, then $a_1(x,s) = a_2(x,s)$ if and only if there exists θ_0 such that $u_1(x,\theta_0) = u_2(x,\theta_0)$.

PROOF. Applying Lemmas 2.4 and 2.7, we have, for all $v \in C^0(\overline{\Omega}) \cap C^2(\Omega)$,

$$\int_{\Omega} \left[a_1(x, u_1(x, \theta)) - a_2(x, u_1(x, \theta)) \right] v \, dx = 0.$$
 (2.47)

Therefore, for all $\theta \in \mathbb{R}$,

$$a_1(x, u_1(x, \theta)) = a_2(x, u_1(x, \theta)).$$
(2.48)

It can be shown that

$$\lim_{\theta \to \pm \infty} u_1(x,\theta) = \pm \infty.$$
(2.49)

Since $u_1(x,\theta)$ depends on θ continuously, when θ changes from $-\infty$ to ∞ , $u_1(x,\theta)$ changes from $-\infty$ to ∞ . The result of this theorem then follows.

The result in [3] is a special case of Theorem 2.8. We put it as the following corollary.

COROLLARY 2.9. Suppose that a_1 , a_2 satisfy all the conditions in Lemma 2.2 and that $\Lambda_{a_1} = \Lambda_{a_2}$. If $a_1(x, 0) = a_2(x, 0) = 0$, then $a_1(x, s) = a_2(x, s)$.

PROOF. Condition $a_2(x,0) = a_2(x,0) = 0$ implies that $u_1(x,0) = u_2(x,0) = 0$ 0. According to Theorem 2.8, $a_1(x,s) = a_2(x,s)$.

Next, we give another necessary and sufficient condition for the uniqueness of a.

COROLLARY 2.10. Assume that a_1, a_2 satisfy all the conditions in Lemma 2.2. Then $a_1(x,s) = a_2(x,s)$, for all $s \in \mathbb{R}$ and $x \in \Omega$, if and only if there exists a θ_0 such that $a_1(x, u_1(x, \theta_0)) = a_2(x, u_2(x, \theta_0))$.

PROOF. Assume that u_1 , u_2 satisfy, respectively, the problems

$$-\sum_{i,j=1}^{n} c_{ij}\partial_{ij}u_{1} + a(x, u_{1}(x, \theta_{0})) = 0,$$

$$u_{1}(x, \theta_{0})|_{\partial\Omega} = \theta_{0} \in W^{2-1/p, p}(\partial\Omega);$$

$$-\sum_{i,j=1}^{n} c_{ij}\partial_{ij}u_{2} + a(x, u_{2}(x, \theta_{0})) = 0,$$

$$u_{2}(x, \theta_{0})|_{\partial\Omega} = \theta_{0} \in W^{2-1/p, p}(\partial\Omega).$$
(2.50)
(2.51)

It is clear that, when $a_1(x, u_1(x, \theta_0)) = a_2(x, u_2(x, \theta_0))$, the difference $u_1 - u_2$ satisfies the problem

$$-\sum_{i,j=1}^{n} c_{ij} \partial_{ij} (u_1 - u_2) = 0, \quad x \in \Omega,$$

(2.52)
 $(u_1 - u_2) \mid_{\partial\Omega} = 0,$

which implies that $u_1(x, \theta_0) = u_2(x, \theta_0)$. Theorem 2.8 then assures that $a_1(x,s) = a_2(x,s)$. The inverse result follows clearly from Theorem 2.8.

The following corollary can also be easily proven.

COROLLARY 2.11. Suppose that a_1, a_2 satisfy all the conditions in Lemma 2.2 and there exists s_0 such that $a_1(x, s_0) = a_2(x, s_0) = 0$. If $\Lambda_{a_1} = \Lambda_{a_2}$, then $a_1(x, s) = a_2(x, s)$ for all $s \in \mathbb{R}$, $x \in \Omega$.

Denote $E = \{a(x,t) \in C^1(\overline{\Omega} \times \mathbb{R}) : \text{ there exists an } s \in \mathbb{R} \text{ such that } a(x,s) = 0 \text{ for all } x\}.$ The following theorem improves the result in [3].

THEOREM 2.12. Let $a_1, a_2 \in E$. If a_1, a_2 satisfy all the conditions in Lemma 2.2 and $\Lambda_{a_1} = \Lambda_{a_2}$, then $a_1(x, s) = a_2(x, s)$ for all $s \in \mathbb{R}$, $x \in \Omega$.

PROOF. Suppose that $a_1(x,s_1) = 0$ and $a_2(x,s_2) = 0$. We will show that $\Lambda_{a_1} = \Lambda_{a_2}$ implies $s_1 = s_2$. Then the theorem follows from Corollary 2.11. In fact, since $u_1 = s_1$ satisfies

$$-\sum_{i,j=1}^{n} c_{ij}\partial_{ij}u_1 + a_1(x,s_1) = 0, \quad u_1|_{\partial\Omega} = s_1, \quad (2.53)$$

we have $\Lambda_{a_1} s_1 = \Lambda_{a_2} s_1 = 0$. That is, u_2 satisfies

$$-\sum_{i,j=1}^{n} c_{ij}\partial_{ij}u_2 + a_2(x,u_2) = 0, \quad u_2|_{\partial\Omega} = s_1.$$
(2.54)

Therefore, $u_1 - u_2$ satisfies

$$-\sum_{i,j=1}^{n} c_{ij}\partial_{ij}(u_1 - u_2) + (u_1 - u_2) \int_0^1 \frac{\partial a_2}{\partial s}(x, \sigma u_2 + (1 - \sigma)s_2) = 0, \quad (2.55)$$

$$(u_2 - s_2) \Big|_{\partial \Omega} = s_1 - s_2, \ \frac{\partial (u_1 - u_2)}{\partial \mu} \Big|_{\partial \Omega} = 0.$$
(2.56)

Multiplying both sides of (2.55) by $(u_2 - s_2)$ and integrating over Ω yields $u_2 - s_2 = 0$. Therefore, $s_1 = s_2$. Corollary 2.11 and the fact that $a_2(x, s_1) = 0$ and $a_1(x, s_1) = 0$ assure that $a_1(x, s) = a_2(x, s)$ for all $s \in \mathbb{R}$, $x \in \Omega$.

REFERENCES

- D. Gilbarg and N. S. Trudinger, *Elliptic Partial Differential Equations of Second Or*der, 2nd ed., Grundlehren der mathematischen Wissenschaften [Fundamental Principles of Mathematical Sciences], vol. 224, Springer-Verlag, Berlin, 1983.
- [2] V. Isakov, Inverse Problems for Partial Differential Equations, Applied Mathematical Sciences, vol. 127, Springer-Verlag, New York, 1998.

- [3] V. Isakov and J. Sylvester, *Global uniqueness for a semilinear elliptic inverse problem*, Comm. Pure Appl. Math. **47** (1994), no. 10, 1403-1410.
- [4] S. Nakamura, *A remark on the global uniqueness theorem for a semilinear elliptic inverse problem*, Inverse Problems 14 (1998), no. 5, 1311-1314.

Chaochun Qu: Department of Mathematics, Yunnan University, Kunming, Yunnan 650091, China

Ping Wang: Department of Mathematics, Penn State University, Schuylkill Haven, PA 17972, USA

E-mail address: pxw10@psu.edu